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local n;
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def sum3(a, b, c)

{
local sum;
sum = a + b + c;
return sum;

}
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def vecsum(A)
{
local sum;
sum = 0;
for (a in A) {
sum = sum + a;
}
return sum;
}
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def main ()

{
local A;
A = vec(4);
A[0] = numread();
A[l] = numread();
A[2] = numread();
A[3] = numread();
numprint (vecsum(a));
return O;

}
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# Inefficient calculation of the Fibonacci sequence
def fib(n)

{
if (n < 2)
return 1;
return fib(n - 1) + fib(n - 2);
}

numread ()
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numprint (n)
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vec (n)

veclen (v)
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exit (n)
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g oo g (Comment)

func |

prog
func prog
func ::= def iden ( flist ) { body 1}
body ::= stmt |
stmt body
stmt ::= expr ; |
defvar ; |
if ( expr ) stmt |
if ( expr ) stmt else stmt
while ( expr ) stmt |
return expr ; |
{ body 1}
defvar ::= local iden
expr ::= iden ( clist ) |
expr [
expr = expr
expr + expr

expr — expr
expr

/

expr % expr
expr <
>

]
I
I
I
expr * expr |
I
I
I
expr |
expr == expr
expr <= expr
expr >=
expr || expr
expr && expr
! expr |
- expr |
+ expr |
( expr )
iden |
num
flist ::= |
iden |
iden , flist
I

expr |

clist

expr , clist
num ::= [0-9]+
iden ::= [a=zA-Z_] [a-zA-Z_0-9]*



